BISE - DBHREEOTFE (RIFEMIE +R4FEZSY)

==

(B

T/ U —IVEEB Z0ft
/U= T7.3EM 3684
59E8H [11.9%] - [06%]

[09%]

73
307EM ——3
[4.7%)]

BhLiEn
0413
[0.1%]

RELE
5401
[8.3%]

HHERE—ARSETFE
1,3981EH

YNBSS
63fEM
[2.7%] EEE

435fEM
[18.8%]

IS
463fEHM
19.8%)]

4,000

12%
103% O EBHERFE (FBE+ZS¥D)
E\if e PR SEIEETE (BIE+49D)
3000 £29° 85% —O0—yx P B/ RHEH 1 9%
282
57% 66% 66% 66%
60% 0—Q
2,000 o = 1% B51% 58% 55% 0o 53% - B52% " 52%, 6%
1954 2049 [] R WA
[T 1684 [0 . L 1B v 1pds 142 1715 :
1960 1663 1613 1630 1,607 ,
1 000 1758 |des |de5 |dqo |do4 1 3%
’ o 79T % T 440 |12 ds4 | 708 |95 °
0 0%
r r r r I I I I I I I I I I I I ®W® JP A
= T T X MM NN DM NN NNSDNDD® 2N B
o N~ ® © O = N O i~ %4% % % % © %c% % ®m B @
+ + +
rrrr ot 3R
Ss & 3@
X BIRH2SHIET E (H718M) HY a o ~N ® o

=g o1



